
DESCRIPTIONID    PART QTY REF.

Windshield

Black cover

Central metal support

1 7653A/C/F/H/N/R/WM3

1 SOPOR-3P-3-7653

1 SOPOR-3P-3-7653

1

2 1 7653A/C/F/H/N/R/WM3

3

Pg. 1/5

M5x0,5 nylon washer

M5 ISO7380 Allen screw cap

M5x16 ISO 7380 Allen screw (big head)

Left special riveted washer

M5x16 ISO 7380 Allen screw (small head)

Right special riveted washer

M5 Silentblock

7 TORNI-I7380-493

1 SOPOR-3P-3-7653

2 TORNIAI7380-281

7 ARNV00000000245

7 TAPON--------85

7 SILENBTM5-046/1

5

6

4

9

8

7

10

30 min1 person

 Easy

Innnteeermmmediate

DDDiffifificcuuullt

Nº 4
Nº 5

ALLEN PHILLIPS

Ref.: 7653

 WINDSHIELD FOR 

SUZUKI GSX-S1000

https://www.motorcycleid.com/puig/


MOUNTING INSTRUCTIONS 

SUZUKI GSX-S1000SUZUKI GSX-S1000

1

3

2

4

Pg. 2/5

Do not use in the assemblyA
A

AA

DISASSEMBLY

DISASSEMBLY

DISASSEMBLY

DISASSEMBLY

WINDSHIELD FOR 



        

SUZUKI GSX-S1000SUZUKI GSX-S1000

5

7

6

8

Pg. 3/5

A

Original screwsA

Connect

DISASSEMBLY ASSEMBLY

ASSEMBLYASSEMBLY

Desconectar
Disconnect

3

6
6

4

5

 MOUNTING INSTRUCTIONS

 WINDSHIELD FOR 



    D    

SUZUKI GSX S1000SUZUKI GSX-S1000

11

9 10

12

Pg. 4/5

7
8

9

2

7

9

8

7
8

9

10 10

10

ASSEMBLY

ASSEMBLY ASSEMBLY

ASSEMBLY

 MOUNTING INSTRUCTIONS 

 WINDSHIELD FOR 



  

SUZUKI GSX-S1000SUZUKI GSX-S1000

Pg. 5/5

1413

7
8

9

1

ASSEMBLY

10

10

10

10

ASSEMBLY

 MOUNTING INSTRUCTIONS 

 WINDSHIELD FOR 

If you’re looking for quality motorcycle windshields & fairings, visit our website.

https://www.motorcycleid.com/windshields-fairings.html



